80 MATHEMATICS (121 & 122)

8.1  Mathematics Alt. A Paper 1 (121/1)
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2. VJ11.25% =6.75% =9

Perimeter = 2(9 + 6.75)
=31.5
(2marks)
3. Let d be distance covered
3d d d

5 2 10
d

% change = %x 100%

2

=£x£x100%
10 4

= 20%
(3marks)
4. 60=22x3 x5
42=2x3x7
Side of room = 22 x3 x 5 x7 = 420cm
Least area = 4.2m % 4.2m = 17.64 m*
(3marks)
5, Sin (x + 60%) = Cos 2x
X+ 60+ 2x =90°
3x =30°
x=10°
Tan (x +60°) = tan 70°
=275
(3marks)
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4x - 9x’ _x(2—3xX2+3x)
3x) ~4x-4  (Bx+2)x-2)
_x(2-3x)
T D

Internal Dimensions: 40, 20 and 15
Volume unoccupied = 40x20 x 15 - 80060
= 4000

4000

=5cm
40x 20

Height above water level =

2x°y? =Sxy—12=2xy* —8xy +3xy - 12

= ny(xy - 4)+ 3(xy - 4)
= oy +3)fay - 4)

Perpendicular distance between PQ and SR = 3.9cm
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(3marks)

(4dmarks)

(2marks)

(dmarks)



10.

Mass (kg) x 40-44 | 45-49 | 50-54 | 55--59 | 60—-64 | 65-69 | 7074
No. of people, 1 1 2 12 10 2 2 1
Midpoint of x 42 47 52 57 62 67 72
x 42 94 624 570 124 134 72
meanmass,; = f = 1660 = SSiKg
yx o 30 3
(3 marks)
11.  Selling price before discount = Sh. 58:0 x 100%
= Sh. 6000
: . ; 6000
Price at which shopkeeper bought the suit = Sh. x100%
= Sh 5000
(3 marks)
12,
) QS =+12% +12% =16.97
(3 marks)
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13.  Let Mambo’s salary be x and Simba’s salary be y

Leady1as20
6 5

—lmx + w-lmy = 8675
g8 12

5x + 6y = 444600
Ix+2y = 208200

5x + 6y = 444600
9x + 6y = 624600

4x =180000
x = 45000

(4 marks)

14.  a) 10500 = 2°x 3 x 57 x 7

b)  Px10500=2x3"x5x7
Smallest value of P = 2x3? x 7%= 882

(3 marks)

15.

Distance XZ =3 x 10 =30 Km
(4 marks
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16 LSF.=824=1:3
VSF=1:27
Volume of frustum = 160x 27160

= 4160¢m’

(3 marks)

17. (a) (1) Surface area of the solid = 7 x6x10+ %x:r x 6% =414.49

(ii)) Height of cone = +/100-36=8
. 1 2 1 4 3
.'.Volumeofthesohd=Exnxé x8+5x§xnx6

=753.98 cm’

() Massofsolid inkg= =598 _ .98ke
1000

(10 marks)

18.(a) (i) Letdistance covered by bus be b km
00-b

- Time by train =

Time by bus = L2
75

00-4 b 11

50 fi< z 2

2100-3b+2b
150

2100 -b=11x150
b=2100- 1650
=450

il

700450 _
50

Total time before departure of bus = 5 h + 30 min

(i) Time taken by train = 5h
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5. @ 0 1\(-15 -05\ ( »p p=2
' 2 pll p p-2 ~3+p° -1+p*-2p

—p+p’=2p*=p*-2p* -3p+6
~p=-3p+6

p=3

by (1) x+30y = 50000
x+40y = 56000

L (130 50000
(i)
140 56000
1 (40 -30\(1 30\(x ~30\ (50000
10(-1 1 40/ 1y 1} 56000
x\ 1 (320000
y) 10 6000)
x\y (320000
y) 6000
x = 32000

y =600

(i) 68000 -32000 _ 60
600

20.
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21 a) ordinates

x=0 y =1
x=1 y,=6
x=2 y, =9
x=3 y,=10
x=4 ys=
X=5 yg=
x=6 y, =

Area = %xlx{l+l+2(6+9+10+9+6)}= %(82)=41

6 ]
® @) f—x2+6x+1=[—%x3+gx2+x] = ~72+108+6 =42
0

0

42 -41

(ii) x100% = 2.38%

| (10 marks)

22. (a) V=%§=6r2—101‘+4

Whent = 3,
v=6(9)-103)+4=28 m/s

(b) v=0=6:~10+4=0
32 -5t +2=0
(Bt = 2)(t =)= 0
r=—2~ort=1
3
3 2

(¢} t=%: s=2(—§—) —5(%) +4(§)+2=3.04m

t=1 s=(1) -51)° +4(1)+2 =3m
(d a=—=12r-10

z' t=3:a=12(3)-10=26
(10 marks)
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23.  (a) (i) BC=BD+DC

=-d-at2a

= a-d

(i) AX=kAC = AX=k(2a-d)

(i) DX=#iDB = DX=h(d+a)

(b) AX=-d+hd+ha

AX=d(h-1)+ha
AX =2ka-kd

<.d (h-1)+ha="2ka-kd
h=2% and h-l=-k

h=-k+1 2k=-k+1
3k =1
k=t
3
1 2
h=2k:>h=2x§=§ (10 marks)
24 (a)
Lo & .T'.ﬁ_':: ot
-
B AT a7 300 400 SO0 oo
(b) (i) median class: 200 — 300
(¢) Number of workers who earn Sh. 450 or less per day =900 + 50 x 0.5 =925
(10 marks)
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